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BAL: AL M %, [

Go BE VR0 | PRS0 | SRR | SR 2R | S0 3R
A | 26, 735 26, 635 26, 459 26, 356 26, 165
o ¥ # B 11, 386 11, 068 10, 866 10, 609 10, 349
x5 #x B 42.6 41.6 41.1 40. 3 39. 6
= H i B 121, 806 119, 958 101, 293 93, 288 111, 584
1 A7 0 S 4.6 4.5 3.8 3.5 4.3
i & B 127, 899 129, 837 128, 651 127, 926 127, 267
1 A% 70 EK 4.8 4.9 4.9 4.9 4.9
= o A & 5,784, 408| 5,521,486 5,284,479| 4,985,229 4,879, 684
1 AN NERAR 216 207 200 189 186
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() (1) BFRR=EE AN X 100
(2) 1 N4 7= 0 Mg =S A D
(3) 1 ANM7- v EH = ER A
(4) 1 NY7= 0 [XERE N =XEEAE A D
G) N ATEREARERR (3 AK)
6) AL DR F2HLE T EO -, SFed9H 10H ~12H23 H £ TIKER,
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